204 53 s ® K 15
HREATF 4 - o)l RS S
e R ks @ A o w4 [P PEEERTIBEITOGES
% A = * ® = # ®
| TR FE FH X3 —lan eomti 11| - - | -
LA D KI5 30 | Lo|f 13f 23 17 17 — —
TR H fr P M X —l 1o 2.3 | —|  —|  —
RIS K
1 RE ERRIER R L1|#H 2.6 370 5.900 5.5, —| —
2 LFELIA o i L1 2.6 370 2. 660 2.6 —| —
AR [EE 2 4 SRRV 30 | L1 [EcHEE Y M beE | —
EFRLIA o Hitkek 30 | L1|P 1o 17% 6.0 6.0  — —
A i A KR —bt oo 13 | | | —
ERUADKE
1 BB ABRRG Y, REMKLEA 30 | L1 |EREEERER 18k 18 | —
FRIR W
2 ERCEAA OISR 30 | L2|h 11ff 14 466 4.6 0 — —
s ki B P P L X fgk —pn 1opi o120 - | - —
RIS K
1 REBTFIARE 30 | L1 |EkvEERkAES 20 20 0 - —
2 LFELh o g 30 | Li|p 15h 28 8 7h 8 | —
- F ) U —Hl 9. 981 15 — — — —
RRRLIA DK Ig
1 EHiE2 4580 50 | 1.1 |Elpu#EjELLE bedy bR¥E | —
2 LS R 50 | L1 14 17F 4.6 46—  —
bip B L R —t e i o100 | | | —
LRELIA D RS
1 BEBFIARE 30 | 11 |FeHEEEEEF 18R 18— —
2 _ERCEAF R 30 | L1|% 9.6 114 5.0 5.0 — -
A4 E: 30 | LOWE 2. LWl 350 6. 48 6.4 —| —
5 ki = P b X — Lo 14—~ | —
LA D KI5




TR0 5y i 2R * 2R
[EESIE T A 2Nl Kih RS S
e R ks @ A o w4 [P PEEERTIBEITOGES
2| k% 1?\552 4 SRR, FIETnER LT —% %%ﬁ%%tﬁglﬁtﬂg J:I:é l:l:fgl f j
2 LbRREA O
(1) REfMELSTHER L0 dbo bk — | BE#R | 23 267 36 36 |  —
(2)  EFRLASOHIE 30 | Lok 1k 144 16 1§ 0 —| —
fTH = F b — 11 16 - - — —
ERELIA OO KAk
1 EHE2 4 5Re. REMELITHR — | BE FEE s e by - —
mv, FiE4 2 4 5BV ERT ] RN
LR Lm0 BB R T HARIR
2 LB o M
(1) EE#R R — | B 19 46/ 3gh 3¢l —| -
(2] EFRRLASOHIR 30 | L1|Fo.8F 200 180 18 —| -
B f2 P 4 XU —#t o6 e 8.2f - - — -
LFRLEAS DK
1 B avERIe ., BETE)I R4 H 30 1.1 |t HEE e 184 18 - -
e S
2 bRELSt o 30 | L1|F7.6F 9.8% 5.0 50 —| —
| i 2= P —l 4,500 7.8 - - —| -
LRREADRIR 30 | L1|F 8.6F 1 5.8P58 —| -
B £+ i P — 1R 20 — — — —
LFRRLS O XI5
1 [EE2 4 SR 30 | 1.1 |EeEEE Y M EHE — -
2 kELMS ot 30 | L1 17 21H 2.9H 2.2 — —
SR E = P XU —t Lol 2.3 - - - -
LFRLEAS DK
1 RGE EEREER R LO|F 7.3F 7. 1% 6.0 6.0 — —
2 LERLS o
(1) Freth LU Lo 2680 5. 1006 5.1 — —
(2 kRSO HIR L1 7.2 7. oﬁm 5.6l 5.6 @ — —




SEAR29F 4y i = X 3E
[EESIE T A 2Nl Kih RS S
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
| IR £ P DU — 1298 18— — — —
LIS D Ktk
1 EiE2 4 5Fnn — | BEMR A YR LT bbiH bbWE -
2 BIEFNRKILFT AR 30 1.1J§Jt|:2é’;t|:2% ey b - —
3 R o ek 30 | L1 18k 274 1TH 17 — —
= Fo% P M K 3 —peLegpn o1 | | | -
ERRLISN O XI5
1 ReEfHILE ARG 30 | L1 |EruEEAES 1gh 18 - —
2 LRELU o i 30 | L1|F 84F 125 7EsT | —
i o F 1 X —foegpi o1 | | | —
R O K IE
1 RERERILEARG 30 | L1 |FEreeEESEF 18 18 | —
2 LELU OISR 30 | L1|P 8 df 125 Twis - —
JE5 e T X Sl —l 5.4 6.3 —| - - -
e NG 30 | L1|F 7.2 7.9%0 508 5.0 —| —
NS g 1.0 [l 1. 7jl 3. 4[;@ SAE .4 - -
ERES P b X —|fii 5. 6Ez 9.2 - - - -
LFEELS oD R t5
1 JRERIE L Y Lotk 11|# 6.5 9.8 5.5 5.5 —| —
2 _ERCEA DR L1|f e 1f 9.8 55% 55 — -
&| &&)IETR<F Fot Y b R s —#E 1o/ 13 - - - -
EFRLA o I
1 AL Y fE g — | B P o2k 29k oo - —
2 LERLIS o s 30 | L1 14 240 7.0 7.5 0 —| —
EENETH /0 2 FH X g —| 8.9 13— — — —
ERELA o K IE
1 EiE4 245/ 30 1.1 |tk e 1 11 - -
2 o B RIS 30 | LO|EEEEkER 1P 1] | —




SEAR29F 4y i = X 1H
[EESIE T A 2Nl Kih RS S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| BEHENETH D 3 LRSSt oHR
(1 BEENEEEA 2 45KROEO/IE 30 | L1[F 17F 23F 1 1 — —
(2)  LFELSOHRL 30 | L1|P 17 2300 4.9 4.9 0 — —
H )[BT 311 2 F 1 X e —hl 13E 17 — — — —
EERLS O K
1 BoBEFngRIAE4AmIe — | WAR |EILuEE LY phvE phve - -
2 ERRLS O — | B P 2ok 42 24 24 | —
B IHT RNy 2 R i Xk —it 7. 20l 9.1 — — — —
RS DK
1 [EiE4 2 4 BB 30 | L1 |EkvEE ks 9.9 0.9 | —
2 hEEA o i
(1) EE42458E0EoHhk 30 | L1|d 12 22 3.7 3.7 | —
(2 kLSO 30 | L1 13 229 3.8 3.8 — -
BT R Y Hb X —ffd 9. 3 12 - - - -
e NG 30 | L 1| 13 1o 7.6 7.6 0 —| —
HE)HT L = F i D —i 9. THE 11 — — — —
RFRRLIA D K S5
1 [EiE4 2 4 BHHw 30 | L1 HEEEELEES 999 9.9 - —
2 LRELstoR
(1) #HFEL 0w 30 | LO|h 14 20 4.5 4.5 0 —|  —
2) EFEJNEEE4 2 4 5HROBOHE 30 L1|f 15 164 4.5 4.5 - —
(3] EFRLASOHIIR 30 | L1 15T 16%E 4028 4.2 | —
H TG = P XU —ot 6.8 6.2 - - - -
LEREA o Kk
1 BRIESHE ERR, — | B R LEMEE bEHE pevE kMR | —
2 LERLS o 30 | Ll LU Lot 7. 640 7.6 0 — -
E&JATEFE Fo F b K —RE 11 14 - - - -

R ORI




S RR294F 4y i = X b
AT A4« 4o IlH B E
7R R W % A e P T TR T [
&| BRIETEE 1 FGHAHE ERHY —% ﬂ%ﬁ%tbf@%tﬂé J:I:£ ttiél i -
2 ERCEAAOHIR 30 | Lo|h 15 19% 9P L9~  —
B | BT P L B 0 e 13 15 | | | —

EERRLS 0o K

1 RESHE B, REMBRKILESN — | B FEE R e e |
Sl

2 hRELSt DR

(1) BEHR R — | B P 3o 43 24 24— —

(2) EFELSOHE 30 | L1|f 24 250 7.9 7.9 —| —

El T 5 = P X —t 9. ol 9.5 —| - - —
LFEELS oD K tee

1 [EiEA4 2 4 580 30 | L1|F w4 17% 5.8 5.6 0 — —

2 kRELS O

(1) [EE4 2 458 &0 moH 30 | L1|d 14 LTHE 538 5.3 | —

(2)  _EREELASh DO HuE 30 | L1|F w4 17% 5.8 5.6 — -

ST = P X g —# 9.6 13 — — — —
ERLEAS DK

1 EGEIL FLE)I K Y B o — | B |P 2R 29 8.0 8.0 | —

2 ERRLSh O HulR 30 | L1|F 16 27 8.4 8.4  — —

=N =3/ Y ML X 7ol 12 | | | —
bR DK

1 REfmERIAEARG — | BRAR |EILHEEILLTE bR LY - -

2 R EEHFAEC/IIME Vot | — | BT 2 27F 9.9P 9.9 - —

3 REELS O Mg 30 | L1|F w4fF 24F 9P Ty - —

&R R Hb Xk —f#l 7. LEE 11 - - - -
LRELLA DR S5

1 REFHILE ARG — | B |RLETEE LR bRt fhiE - -

2 e EFEEEEIBI vEOMEE | 30 L1fdr 13 24 8.0 8.0 — -

3 Lo DR




A 294F ) i = X 6
[EESIE T A 2Nl Kih RS S
e R ks @ A o w4 [P PEEERTIBEITOGES
a| mamrEL 1) B B [V PR R P T I
(20 EFLAS R 30 | L1[H 13 240k 8.5 8.5  —|  —
BB L it FE b X S —oo.epi 18 | | | —
EELIA 0 KR 30 | L1 15 24t 8. TRE 8.7 | —
i)W AT E P i X 4 —pE 11 12 — — — —
LFREIA D K 5
1 SEAHE R — | BRI ILuEE e bed e | —
2 BRIEEMNY BRI D AR 30 | L1k 1R 168 7.e6i 7.6 | —
3 LRI o HikE
(1) REEHE BRI Y Ok — | B 2ok 43 23 23 | —
(2) RS HuIER 30 | L1|% 16 234 7.8 7.6 @ — —
H )BT LA 2 HE R —f 1268 13 — — — —
EFRLIA O K
1 RIESHE BREy Sl -1 D o e o = o R = - -
2 REAHTFLMEEESNOMOME |30 | L1|F 18 23% 124 12 —| —
3 LbRELAA DR
(1) BEHR A — | B P o9 25F 18P 15— —
(2)  LRCLAS DM 30 | 1L1|F g 230 1HE 11 — -
JeRFH i P — 1o 16 | —| - —
LFRRLS O XI5
1 BOBEREBTERE 30 L1 (A s 16 16 - -
2 RERLS O 30 | L1|F 19 2% 17 17— —
ALEEF R FH b Rt —ffh 6.9l 11 — — — —
LFRLEAS DK
1 BEsBEBIRImA#R G 30 1.1 B HEE e 17 17 - -
2 LERLS o
(1) IRBERGE & 0 dboo ik 30 | L2 1o 130 4. 7E 4.7 | —
(2) kRS OISR 30 | r2|h 10F 3F L] | —




A 294F ) i = X 7H
[EESIE T A 2Nl Kih RS S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| B £ P DU — 8.l 100 - - | -
LIS D Ktk
1@&157%15%34? FAFREV, FGERNINA 30 | L1 & eiE ki v e | -
B
2 RHURIE & Y Lot 30 | L1|F 13 148 908 9.0 —| —
3 EREEMAA D 30 | L1|F o 13ff 14t 9.6 0.6 —| —
e = FH i —l 6.0 9.4  —| - - —
LR DR 30 | 11|87 9.5 8.6h 8. —| —
ez = PR i X —oe.spn 11 - —| - —
LRRLIS DX
1 RETFMARRIE 30 | L1 |AkHEEkES b o1 - —
2 ERELSA ORI
(1) TR & 0 dboo ik 30 | L2|h 1off 13%E 4.7E 47— —
(2) LRSS OHI 30 | L2|P 10 134 7.6H 7.6 — —
ki l=353F: i1 —l 3. 0@t 5.1 | | | —
RERLIA D KI5
1 FoBEREILEARE 30 | L1|F 9.3k 9.0 6.1l 6.1 —| —
2 kLSO 30 | L1|P 7.9 8.3 5.6 5.6 —|  —
Eupe FER P X3 —l 3.4t 81 | | | —
LR DK
1 REERE X 0 dbothiR 30 | LO|F 10 115959 —|  —
2 hEE o i 30 | LO|F 1o 1d 6.2 62— —
<| & 5 A M IR o S U5 I I I
ERRLAS o KR
1 EiE4 2 4 BHnn 30 | L1 |EHEEELE Y HHE - —
2 EFELSt MR 30 | L1 1R 200 17 17 - —
YN = P b X e L U B B
LA D KI5
1 #e)Il& D vE O — | P 2uF el 36 36— —




TR0 5y i 2R * 8K
[EESIE T A 2Nl Kih B
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® & # ®
<| AEHEE 2 kRELIA o Hi 30 | 1L1|Fo9.gF 26 17 17— —
Bt P X3 —E e o1 - - - —
LERLIA o Kt
1{/\352 4 SRR, BRI LT HMY — | B EIeNEE e HevE pedE | —
2 e - - —Wh 5. 30 5.3 — —
3 hEELIA o Mg
(1) HEE2 4 &0 B CHtR AR — | B8P 20F 27F s 3¢ —| -
X 0 dtoo s
(20 ERELIS O 30 | L1|F 13k 18 1 o1 | —
] fE% R R X3 —t Lol 17 | | | —
R O K IE

1 [Eili 2 4 580, BEFEKLFTHE — | BE AeEE e b LhEE — —

AL

2 REMRLATER L 0 AL OEM)I L Y| — | BB [T 23 soh sgh 36 — -

LD Hhisk

3 EiE245HRE D Lot 30 | L1 13 13d 17 o1~ —

4 FFERES O 30 | L1|dopo19h o1 o1 - —

Z| bmHF 5 F i Xk —We oo 1§ —| - —| —
LFRELLS D K3,

1 [EiE 2 4 5&nn 50 | 1.1 |FcHEE L ey bhHE - —

2 _ERCEA DR 30 | L1|h 12f o1 17 17 — -

i P b R S et s 15| =] = = =
EFRLA o I

1 EE2 4580V BB LBR — | B EeAEE e v ey - —
KPS & CORERT SRR, BB
IATERI N S UK BE AL M

2 JRMFIGRL vIETEERIAH — | B&R (P 210F 279 199 19 — —
FomoE, JRMFIUBRLYET
5 K EES & 9 dbod s

3 JRIESE kY db oo i 30 L1|F 16 170 7.60f 7.6 — —

4 EFRLS o Mg 30 L1{F 16F 174 9. 1+ 9.1 — —




TR0 5y i 2R * 9K
[EESIE T A 2Nl Kih RS S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
L| EAT £ P DU ot 7.4 8.8 —|  —|  —| -
LIS D Ktk
1 RERETTERE 30 | L1 |Ebe¥EE S 15 15 | —
2 kBt
(1) iR & 0 dbod Hulsk 30 | L1 10/ 108 6.006 6.0 | —
(2) kst o Hhg 30 | L1|f 1o 104 9.3H 9.3 — —
W FE A i X I —#t oo 18 | | | —
ERRLISh O KR
1 [EHE2 45800 50 | 1.1 |FILL#EJEbLYE v RR¥E | —
2 LSO K 30 | L1 13 e 1 o1 | —
TR B P b X — o 14 - - - =
LRELIA D RS
1 EE2 4 5800 — | B [EILUEEELTE e e | —
2 FaEMmEKILSTEANY, FEPE4AT 30 | 1.1 Jﬁthhf%’;ttf% v e - —
HBBRIE U B OIRGE R LT HBRRRIB
3 kLSO 30 | L1|F e 200 17 17 — —
TR gt 1|0 18l 3. 1% 3660 3.6 —| —
TrHES FE A i X I —t 6.6E 81 - - - -
RRRLIA DK Ig
1 RESAVERE L1 [E e e 18 18 | —
2 LS R L1 7.6 9.8 5.3 5.3 —| —
t%m B L R — e 120 | | | —
LRELIA D RS
1 B2 4 5Fnn 30 | L1 |EECYEEELYE bCME ERHE - —
2 _ERCEAF R 30 | L1|F 13f 214 6.0 6.0 — -
FHIE RGBSR FT H AR IE 30 | L2486 8.8 6.0f 6.0 —| —
bFELAS O s 30 | 110 2. 4G 2 o0 608 600  —|  —
P P k. X —t 6. 5 9.7 - - - -
LR D KR 30 | 1.1 9.3k useP8s  —| —




A 294F ) i = X 105
[EESIE T A 2Nl Kih RS S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
47 2R FE FH X3 —di 10fE 16— — — —
LIS D Ktk
1 REMRKIUBARG 30 | L1 |EEe¥EEES 18d 18 — —
2 FELS o 30 | L1 13 15 4088 4.0 | —
7<| FE PR M X3 —#t s.el 5.8 | | | —
EEUA ORI 30 | L2|P s E 7080 6.7 6.7 —| —
& A/ 11X 0 Ak sk
1 RAHEER —oe. 3 e | | | —
2 LRSI
(1) EiE4 2 4 5896 30 | L1 |EsREERER ko1 | —
(2) RS HuIER 30 | L1|H 9.3 17H 19H 15 — —
LFRLLA o> it
1 B B g 337y - -~ =
2 hEESA DX
(1) EE42488 (E/05%) vy 30 | L2|H 4.6 6.5+ 244 24 —| —
SR IIE: 7. AN
(2) kst o g 30 | 1.1|% 4.6 6.3 5.8ff 5.8  — —
Efeebisye P i X3 —# 158t 18 - - - -
R OO KR 30 | L1|f 18 38§ | | | -
&l WE e A Xk el 4opn o120 | | | —
bR DK
1 JREERE XY dhoo ik 30 | L1|% 6.3 14l 4.7 47— —
2 _EFLSh oM 30 | L1|F6.3F 14F 5.3 53 —| —
& 2 L X3 —t o580 11 | —| - —
LA D KI5
1 ROBRHANAHRR 30 | L1 |ALeyEELIEEES 2 21 - —
2 JRIERSE K Y kot 30 | L0 9.3k 1086363 —|  —
3 EELA oMk 30 | L1|F 93k 1 oob oy - -
7ol R fi FF i (XA o8 19 o | - =




A 294F ) i = X 11E
[EESIE T A 2Nl Kih RS S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
e A LFCRAS D X teR
1 [EE2 4 5%H0 — | BEAR |[ENEE L b by | —
2 BREMEILFTHBRG ., REP=Z4RTF| 30 L1E%$Ew@ ok - i - -
FHPRIG
3 _LELEMSF Ot 30 | L1|F 1 et 17 o1 — —
ERY = F i D —t 9. 1 18— —| | —
ERRLA DK 30 | Lo|f o ff o144 o1 17 — —
)l R H XA —{fd 4. BfE 5.9 — — — —
LRCLASR D X1 L1|# 6.8 7.8 - -
R I IR 1.0 [l 1. 7y 3. 14 - -
i ESE) 110 2. 66l 3. 1L 6. Off - -
=5 £ P DU —l NE 14 - - - -
ERLEASR D X I
1 REBTFIIASRE 30 | L1 |EEe¥EREELYE RV MW — -
2 JRERE XY Lok 30 | L.o|f 1ofF 13 6086 6.0 | —
3 kLSO 30 | L1|F 1o 147 8.1P 81— —
il By 30 | Li|p oo g o1 | —
4HFHE Fo% P L X3 —eo.gpt o1 | o | —
ERLEAS D X
1 EHiE2 4580 40 | 1.1 [EeHEELEE LbdE ¥ |
2 FaBE)IES FRSEHRE 30 | L1 [ERcHEEERYE ObME R | —
3 RETRAFHERELWN 30 | L1 |EHEELE bW e | —
4 [EHiE2 45K L0 EOHER 30 | L1|F 4F 1eF 6.0 6.0 —|  —
5  REELA O Mg 30 | L1 23 26F 6.0 600 —| —
4F L 2 X S —l 2.0l 3.6 0 0—| - —| —
e NG Lo 7.7 9.2 5.08 5.00 —| —
BFET R i X I e R | S I I
LA D KI5
1 JRBREGE &Y Jb oo ik L1 1o 1o 5 Ui 51 00— —




A 294F ) i = X 128
HREATF 4 - o)l RS S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
IEE 2 RERLSOHI L1 10 12 5.2 5.2 —| -
HFREY P X3 — 9.8 17 | - - -
LERLIA o Kt
1 [®iE 2 4 St 40 [ Il k= k= R i = R = i = - -
2 [EiE245RE 0ot 30 | 1.0 JEJH:i’%"J;H:@ e e - —
3 LR g 30 | L1|P 20 28 6.0h 60 —| —
\Z| PR FE% P XA —t 1opi 14 - | - —
ERRLISh O KR
1 REFKILT BAE 30 | 1.1 |EELHEELLYE  bRYE EEME | —
2 LSO K 30 | L1 b 208 a7 17 | —
B CH: B P b X — 2o 220 | —|  —|  —
LRELIA D RS
1 )l X v B iR — | B 2o 54 3gh 36— —
2 hEELAh oo Hitdk 30 | L1|F 1gf 399 17H 17 — -
i) = P b X — il 3.7F@ .4 -1 - - -
ERELIS O K L1 5.4 104 5.5 5.5 — —
TEEFI R Hb X —fid 9. 2% 13 - - - —
FREA DRI 30 | 1P 19 20 2.4 2.4 - —
=5 = R i —pif 9. 2l 14 — — — —
LFRRLS O XI5
1 RESTFIIARRA 30 | L1 |AkHEEkES 20 20 0 —| -
2 JRIREHE &Y b ok 30 | Lo|f 10F 14ie3Miesy —| —
3 _ERCEA s 30 | L1|F 1of 147 6. 9P 6.9 — -
AL P P L X fgk —t 5.4 8.2 — | | —
EERLA O KIS 30 | L1 8.8 9. 1 6. 06 .00 —| —
(il fi P b X3 —l 2.7l 5.3 | - | —
ERLEAS DK
1 RoBERFILBARE L1 11 10?@ 6.0ffi .00  —| —




A 294F ) i = X 138
[EESIE T A 2Nl Kih RS S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
1| P 2 BRI OHIR L1 7.4 7.6 5.06fi 5.00 —| —
| ¥ l=3jibeilEN —Ft 2. 8 5.8 —|  —|  —| —
LERLIA o Kt
1 JRIERRSE X 0 Jeothi 30 | L1|P 3.7 6.7 5.5% 5.5  —| —
2 FEREAAh o Mgk 30 | L1|H 3.6+ 6.7H 5.9H 5.5  — —
BHE i A Hb X 5 —fl 3. 80 3.6 — — — —
ERRLISN O XI5
1 JREERE KD dhoo ik 30 | LO|P 8.6ff 8.3 6.0 6.0 —| —
2 LRELU o i 30 | L1|F 8.6k 83+ 9.0 5.0 —| —
i3 AmEF Lk 2 X I —t 1o 1 | - | —
R O K IE
1 [Eili2 4 5850 — | BEHR | YEE bR phYE LR - -
2 FaEREKILTBAE D 30 1.1J§Jbt¥%’/1;t|:ﬁ§ beve pedE - —
3 REDEIAA oot 30 | L1|F o 1gf 199 17H 17 — -
O RARH = P —l 12 14— | - -
ERELAS D I
1 BB REETHAE 30 | L1 |AkEELEER 29 22 - —
2 LRERIAh oD ey
(1) BT ek — | gk | 20 53 36 36— —
(2)  LREEASh D HiE 30 | L1k 1o 204 17 17— —
HINIER Fot Y b R s — 4500 7.3 —-| - - -
ERES o IR L1 6.7 9.7 5. 5 5.5 —| —
HES 2 FH i X3 — 1w 13 | - - -
LA ORISR 30 | Li|poagdh 21 o o1 | —
R e F M I o 13 | | | -
ERELA o K IE
1 [EE 2 4 50N 50 | L1 |[EdEE b b b | —
2 kLSO 30 | 1P 13F 14F 58P 5y | —




A 294F ) i = X 14E
HREATF 4 - o)l RS S
p| 7 TR aRe  E W % A e T Tk e | s [
% A = * ® = # ®
N HE=R £ P DU —ft 9.3 13— —|  —| -
LIS D Ktk
1 RSB TIIARRE 30 | 1.1 |EEe¥ERELLYE HvE bR — -
2 JRERE XY Lok 30 | L.o|f 1off 128 6.086 6.0 | —
3 R o ek 30 | L1|h 13ff 1% 7.6 7.6 0 — —
il i FR b X g —hl 5.0 7.2 — - -
RELSO X 30 | L1|P g.gf 9.2 6.08i .00 —| —
i PR P L X3 —iFE Logwi 2.1 — -l -
RS DK
1 AERE LY Lot L1|F 46 608 6.3 6.3 —| —
2 hEEA o i L1 46 6.0F 6.3 63 — —
JIN i 5 A M IR ﬂBJﬁ 12 - - -
RSO K 30 | Li|fogh 21 1P 1 - —
AR 2 P b —#t 6.2 8.0 —| —| —| —
LRELLA DR S5
1 JRERRE L0 e 30 | LO|f 9.3 108 6. 0fE 6.00  —| -
2 _ERCEA Ot 30 | L1493 1o 9.1t 9.1 - -
L5 TR ek R X5 —fl 9. 5l 15 — — — —
LRCLASR D I
1 EE2 4 5B 40 | 1.1 [HevEEeTE e e - —
2 _LEBsA o ik 30 | 1L1|f o 13d e 17 17 — —
I £ P L U —t 53 11— |~ —
ERLEAA D X I
1 JREERTE Y dboo ik 30 | 1|k 8O 1580 4.0 4.2 | —
2 ELS o 30 | L1|P8.of 159 4.5 4.5 —| —
Rl fi P b X3 —t 489000 —  —| | -
ERLEAS DK
1 [EE 2 4 5Hm0 30 1.1J§thz%|lattz‘é b pee | -




ERR29HESY i 2R * 168
[EESIE T A 2Nl Kih RS S
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® & # ®
5| FEIRY 2 RERLSOHI 30 | 11|+ 10 124 604 6.0 0 — -
L l=3jibeilEN —F 13 18 - - - —
LRSS 30 | Li|poagh o t9d g o1 | —
~ BT i R b X 3 —|i 8.8 15— — — —
EEELS OO KR 30 | L1|d o1 14 o117 0 —
F| AR FE2 P X e R U I I R I
ERRLISN O XI5
1 [EE2 4 5500 — | BRAR |EILHEEI LR LR bLHE - -
2 LD RO — | B 24 o7 19 19 | —
3 kLUK 30 | L1|F 1 e o1 | —
7 AR EP R Hb R —ffd 9. O 14 — — — —
LRELIA D RS
1 BEBANARRE 30 | L1 (AT TR o1 - —
2 _ERLEA iR 30 | L1|F LT o1 1T o1 — -
& R b X —ff 8. 1l 9. 1 - - — —
ERELAS D I
1 BEREETEEA, BEBENA 30 | L1 |[FARHERELER 204 200 - —
I
2 ERRLSh O HulR 30 | L1|F 14 11 17 17 — —
Lk % F L X4 e Toepn 100 | | | —
LRSS O KIS
1 REBAARRE Y 30 | L1 |EmHgERSES 200 20 - —
2 LECBUt o HbR 30 | L1|F w4 24F 7P o1 | —
b| PEILET T 2 L X3 —t 13 13 | | o —
LA D KI5
1 EHE4 2 4580, REVGL TR 30 | L1 |RkAEREE | | - —
FSE
2 EFLLA O 3 | LLp o 4fbo14 | | | —
ILIPN £ X A 4t 2.1 2.5 | |~  —




A 294F ) i = X 165
KA A 4 - fi)IldT WSS
e R ks @ A o w4 [P PEEERTIBEITOGES
o) HEIlET A LA DI SIS TR Y P O R B
BRI AT Y I 1.1 [ 1. 8l 2. 15 1.9[2 L9 - -
HEILET )1 fr P M X — it 1.8E 29 - - - -
SIS g Lo 2.6 3.2 3.4 3.4 —| —
B L AT 48 FE R b X 3 —|#h 6.0/l 5.5  — — — —
LFREIA D K 5
1 FEOFEH S RO 30 | L[ 14b 13 468 4.6 0 |  —
2 kFCLA o Mtk 30 | L1 14 13 7.4 7.4 — —
BT 2 F i Xtk —l 1T e | |~ —
RSO KIS L1 3.0 3 0t 2,38 2.3 —|  —
Bk LT B R Hb R —ffd 9. O 8. 3 — — — —
LRELIA D RS
1 BB HERERE 30 | L1 |[AkREEEEF 9.5/ 9.5 —|  —
2 _ERLEA iR 30 | L1|F 12f 131 6.5F 6.5 00— @ —
M LT B3 = [ —fl 8. 9ifi 9.3 - - — —
ERELAS D I
1 [EiE4 2 4 B#Hnn 30 | L1 |AEARAES 9.9 9.9 —| —
2GS oM 30 | L1 13 1388l | —
HEILETRR A = R i
1 [EE4 2 45840 /o HE —t 2. ol 3.5 - - - -
2 ERCEU O —# 6.5 7.0 — — — —
EFRLA o I
1 [EE4 2 4 B#En 30 | Lo |EkHEEEES 9.5 9.5 —| —
2 RIEHkL ARV 30 1.1 JEJH:?%J’;H:?%EP 9.5 9.5 - -
3 REHENEE)RBREV 30 | L1|F 12 11 — —
4 [EhE 4 2 4 5880 o 30 | L 1JsE 3. 200 3.8 - -
5 LFELUSh o 30 | Li|P o1gb 11 - -
B LT A Esei 1.1 [t 1.8r’@ 2. bif -l -




A 294F ) i = X 17H
KA A 4 - fi)IldT WSS
e R ks @ A o w4 [P PEEERTIBEITOGES
| BEILIBTEF LS o1 L IR T Y P M B
HEILIET 2= I 1.1 [ 1.8E 2. 2 1.9[2 L9 - -
HEILET A% L= it FE b X S
1 AR X Y B oo sk —l 2.9t 3.7 |~ —|  —
2 _EERLISh oM —di 8. 9[2 9.5 — - - -
LFREIA D K 5
1 [EiE4 245K 30 | LO|EtEEEkEES 9.5 9.5 —| —
2 BFaERk LB 30 | 1.1 JEJtti/%"J;H:ZEEP 9.5 9.5 —| —
3 FRRR)I & Y Lo ek 30 | L1|F 16 15% 9.5+ 9.5 | —
4 BRSO HER
(1) AR X © Fg o> s 30 | L1432 3.0ff 2.8 2.8 | —
(2) BRSSO 30 | LO|F 13 15F 6.4[{3 6.4 —| -
HEHLIET I 2 P X e ki ood | o o —
RERLIA D K 5
1 [HiE4 2 4 5H8m0n 30 | L1 |EcvEEEES 9.5 9.5 0 —| —
2 BEJE 6 PRV 30 | L1 |ALHEFLIEF 9.5 9.5 —| —
3 _bRCEA ot 30 | L1|H 13 13k s TH 5T — -
HEILET A I L1018l 2. 750 2.3 2.3 —| —
K| A i P —t 2.8l 41— —| - -
BRI CINAIES 4
1 RJE R RV LO|# 6.0 5.7 5.8 5.8 —| —
2 RERLS O 11| 6.0ff 5. 7t 5. 1[; 51  — -




